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Run 5419 quartetwise, PosHalAccl/NSamplas

11 IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

=== Laser O -—
Entrie=: 13507
Mean: 1508645 «/- 00077
Siad Dhey- 0LASE0 &~ 00055

=== Lager OFF ---
Entrie=: 11839
Mean: 12220 +- 00019
Sid Dhey: 02049 4~ 00073

Run 5419 quartatwize, Diffs)

=== Laser O -—
Entries: 13507
Mean: -0.5230 «/- QLO04T
Sid Dhey: 0.5406 - 000X

=== Laser OFF ---
Eniries: 11839
Mean: -0.0004 «/- 00021
Sid Dey: 012 -~ 00015

Run 5419 quartetwise, Asyms(

=== Laser ON -—
Entries: 13507
Mean: -31. 4896 /- 01782
Sid Dhev: 207091 &+~ 01260

=== Laser OFF ---
Enirie=: 11839
Mean: -0.0180 «- 0L0E14
Sid Dhey: B.A559 +~ D.05TE
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Run 5418 quartetwise, NegHalAccl/NSamplas(

=== Laser O -—-
Entries: 13507
Mean: 14,6865 /- 0U00&E2
Sid Dheyv: 0.9524 - 00050

=== Lager OFF ---
Enlrie=: 11839
Mean: 1.2X52 «/- 0.00149
Sid Dhey: 02044 - 00073

Run 5418 quartetwize, Sums0

=== Laser O -—-
Entries: 13507
Mean: 28.5510 «- 0.0152
Sbd Dwew: 17716 - 0.0108

== Laser OFF ---
Enlries: 11839
Mean: 24459 +/- 0.0031
Sid Dev: 03377 & 00022
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Run 5413 quartetwise, PosHelAccd
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Run 5412 quartatwise, Diffsd

[ — L O —
— Eritriea: 13807
: Masn: 2367ITT.NIET =0 11413040
__ S D 135091 AT« HE AT
: = Lamar OFF —
: Irlnea: 11E1R
__ Maen: 91519757 «- 3418
: 25 Dwre: T30V 1L BS4SE +/- ZI4R133T
n 1 ] 1 1 ] 1 1 1 1 ] 1 1 JlC1|:".

100E0 SO0 LR H 400 2001 2000 4000

Run 541% quartetwise, Asymsd

— === Laser ON ---
— Entries; 13507
— Mean: 318910 +- 01668
— Sid Dey: 19,3672 +- L1176
— == Laser OFF -—-
[ Entries: 11839
[ Mean: 00626 +- 0.0374
— Sid Dz 4.1087 - 002567
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Run 5412 quartetwize, NegHalAcc4
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Run 5412 quartetwise, Sums4
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=== Laser O -—
Entrie=: 13507
Mean: 000TS +- 0.08041
St Dhey: 0LA7E2 0 00028

=== Lager OFF ---
Entrie=: 11839
Mean: 0UO0E3 +- 0.00d43
Sid Dhey: 04530 - D.00%D
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Run 5412 quartetwize, Asyms Dsbg1

=== Laser O -—
Entries: 13507
Mean: 00041 +- 0.0012
Sid Dhey: 01412+~ D.000G

=== Laser OFF ---
Eniries: 11839
Mean: 000G +- 0.0013
Sid Dey: 0U1407 4~ 00009

Run 541% quartetwise, Asyms Horiz Fingar
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=== Laser ON -—
Entries: 13507
Mean: -0.00687 < QL0032
Sid Dey: 03722 - 00023

=== Laser OFF ---
Enirie=: 11839
Mean: 00032 +- 0.00560
Sid Dey: 0.5457 4~ D005
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Run 5419 quartetwize, Asyms UShg2

=== Laser O -—-
Entries: 13507
Mean: 00041 «/- Q038
Sid Dheyv: 03225 & 00020

=== Lager OFF ---
Enlrie=: 11839
Mean: L0036 «- 0.0025
Sid Dev: 037149 & 00020

1 a 0.5

Run 5418 quartetwise, Asyms DSbg2
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=== Laser O -—-
Entries: 13507
Mean: 000023 «- 0.0011
Sid Dhev: 001280 &~ 00000

== Laser OFF ---
Enlries: 11839
Mean: 00053 «- 0.0012
Sid Dev: 01277 & 00000

Run 541% quartetwise, Asyms Vert Finger

=== Laser O -—-
Entries: 13507
Mean: -0.0074 «- 00024
Sid Dev: 02813 - 00017

== Laser OFF ---
Enlries: 11839
Mean: 00001 +- 0.0036
Sid Dev: 03804 - 00025
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Run 5419 gquartetwize, posHE vs time
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Run 5419 guartetwize, negHO vs time
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Run 5413 quartetwise, posH4 vs time
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Run 5419 gquartetwize, posH4 vs time
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Run 5419 guartetwize, negH4 vs time
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Run 5413 guartetwize, summd vs time
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Run 5413 quartetwise, posH4 vs time
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Run 5413 quaretwise, variFing vs timea
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